SFitnessQuest

Dedication to Quality

ECLIPSE

We warrant this product to be free from all defects N\
in material and workmanship when used _
according to the manufacturer’s instructions. 5 TN
See Limited Warranty Card for details.

Elliptical Trainer

Save your sales receipt.
(You may wish to staple it into this manual.)

(OWNER’S MANUAL

FOR MAXIMUM EFFECTIVENESS AND
SAFETY, PLEASE READ THIS OWNER'S
MANUAL BEFORE USING YOUR
8/8/06 Ecuipse 1175e Elliptical Trainer.

Download from Www.Somanuals.com. All Manuals Search And Download.



WORKOUT PROGRESS CHARTS

TABLE OF CONTENTS

Use ’rhe charts beloyvl to keep track of your proyress K_,
Ot e, B g o e, ke 6 T e OGN Sy ISHUGHONS ... z
these in a hotebook. You will find it both informative Measuring Sites Equipment WUrNING LUDEIS ........o.veiiiiieceseeee e 3
und motivational to look buck at what you've done, Waist
and this data will help you to chart future fithess gouls Abdomen SPECIfICUTIONS & PUIMS ...ttt 3
us you progress. Every two weeks, meusure yourself to . .
rechart your proyress. Hips INFFOAUCTION .o, 4
—T— _ _ _ oo ( Thighs (L/R) HOTAWOIE KIt ... 5
eight | Waist | Abdomen| Hips | Thighs | Calves |5 pate ASSEMBIY INSTTUCTHONS.....vivviiiis e 6-10
Eclipse 11756 PArts LiST.....ooiiiiiiiiiiiiiiiin 10
Calves (L/R) EClipse 1175 EXRIOTEA VIBW .....ovvvooveeoesooeeeeeoeseeeeeeeeeeeses oo 1
Getting STUMTEd ... 12
Using Your 1175e Ellipticdl TraiNer ..., 12
Changing FOOt POSITIONS ........ccoiviiiiiiii, 13
Using The HuNdleburs ...........cccoi, 13
Adjusting the Level of the Elliptical Trainer.............ccoooe. 13
Operating the CoOMPUTET oo, 14-16
Exercise GUIAENNES ..........ccocviiiiiiii 17
KNOWINY The BUSICS ... 17
A Complete Exercise Progrdm.......ccccviiiiii, 17-18
Aerobic Exercise: How Much? How Often?...........cccccinn, 18
Date | Weight | Waist |Abdomen| Hips | Thighs | Calves | ReSing WHen 10 EXEICISE ovvooeeo 18
Medsuring Your Hedrt RUte ... 18-19
ClOTNING 1o 19
Tips 1O Keep YOU GOINY.....ooiiiiiiiiiiiiiiii e 19
Heurt Rute Target Zone Chart......oocc, 20
Warm Up & Cool Down Stretches..........cooocnn, 21-22
Cuare & Storage of Your Ellipticdl Trainer.....ooooovvvi, 23
Workout Progress Charts ... 24
©2006 Fitness Quest Inc. All rights reserved. Mude in China.
Fithess Quest®, Eclipse® und OLS® ure reyistered tfrudemurks of Fithess Quest Inc.

8/8/06

24

Download from Www.Somanuals.com. All Manuals Search And Download.



IMPORTANT SAFETY INSTRUCTIONS

Read all instructions before using this equipment

CAUTION:

Exercise of a strenuous nature, as is customarily done on this equipment,
should not be undertaken without first consulting a physician.
No specific health claims are made or implied as they
relate to the equipment.

1) Before starting this or uny other exercise
proygrum, consult your physiciun, who cun ussist
you in determining the target heurt rate zone
appropriate for your uge und physical condition.
Certuin exercise proygrams or types of equipment
may not be dppropriate for dll people. This is
especidlly important for people over the uye of
35, pregnunt women, or those with pre-existing
heulth problems or bulunce impuirments.

2) Monitor your heurt rate while you exercise und
keep your estimuted pulse rute within your turyet
hedadrt rate zone. Follow the instructions on puyes
18 — 20 in this munual regurding heart rate moni-
toring und how to determine your uppropriute
target heart rate zone. When used properly, the
hedrt rate pulse sensors und display monitor
frovide u reusonubly uccurate estimute of your
actuul heart rate. This estimute is hot exuct und
persons with medicul conditions und/or u
specific need for uccurate heurt rate monitoring
should noft rely on the estimutions provided.

3) Wurm up before any exercise program by doiny
5 - 10 minutes of uerobic uctivity, followed by
stretching.

4) Weur comfortuble clothes that dllow freedom of
movement und thut ure not tight or restricting.

5) Weur comfortable shoes mude of good support
with hon-slip soles.

6) Breuthe naturdlly, hever holding your breuth
during un exercise.

7) Avoid over tfraining. You should be uble to curry
on u conversution while exercising.

8) After an exercise session, cool dowh with slow
wulking und stretching.

9) This eyuipment should hot be used by or heur
children.

10) Hundicupped or disubled people must have
medicul upproval before using this equipment
and should be under close supervision when
using uny exercise eyuipment,

11) If you are tuking medicution which may
affect your heart rate, a physician's advice
is ubsolutely essentidl,

12) Use this eyuipment only for its infended
use us described in this manual. Do hot use
attachments hot recommended by the
manufacturer.

13) Only ohe person ut u time should use this
eyuipment,

14) Do not put hands, feet, or any foreign objects on
or heur this eyuipment when in use by others.

15) Always use this eyuipment on d level surfuce.

16) Never operute the eyuipment if the equipment
is Not functioning properly.

17) Start exercise slowly und gradudilly increuse the
umount of resistunce.

18) If the user experiences dizziness, hauseu, chest
fodin, or uny other ubnormal symptoms, stop
exercise ut once und cohsult U physician
imMmediutely.

19) Use cuution hot to pinch fingers or hands in
movinyg pdrts when using the equipment,

20) Risk of electricul shock. This eyuipment is o be
used only indoors und in u dry locution.

KEEP THESE INSTRUCTIONS

Care Directions

Your Elliptical Trainer has been cuarefully designed
to reyuire Minimum Mmaintenance. However, we
recommend the followiny to keep your trainer
operuting smoothly.

e Unpluy your elliptical trainer when it is hot in use.
e Use your elliptical trainer indoors only.

o Wipe dll perspiration from your elliptical frainer
with d soft, cleun cloth uffer each use 1o
prevent un uccumulation of sweut und dirt.

e Cleun your elliptical frainer on a regular busis
to prevent u build-up of dust. Use Windex or
an dlcohol bused cleunser on u cleun cloth.
Do hot use uny ubrasive cleduners und/or polish
as these will dumuage the surfuce.

e Store your ellipticdl frainer in u dry ureu uway
from children und high truffic ureus.

e Reyularly check the tighthess of nuts und bolts.

Download from Www.Somanuals.com. All Manuals Search And Download.

CARE & STORAGE OF YOUR ELLIPTICAL TRAINER

Storing Directions

Your elliptical trainer is lightweight, compuact and
portable. It cun be eusily moved from place to
pluce.

e Unpluy your elliptical trainer.

e Stand in front of the ellipticdl trainer und make
sure that the dual-action handlebuars are even.
They ure even when one foot platform is af
the top of the elliptical disc und the other is
at the bottom.

e Grusp the stationary handlebars and pull
buck, tipping the elliptical trainer towards
you until it is resting on the transportation
wheels/front rollers.

e Wheel the ellipticul trainer to its new locution
and store in un upright position.

23



22

4. Back Stretch

Stand with your leygs shoulder lehygth apart and your knees
slightly bent. Bend forward from your wdaist with your arms
extendiny loosely in front of your body. Gently bend from
the wuist flexing your body s far forward as it will go.

Hold for 20 to 30 seconds. Straighten up und repedut,

5. Standing Hamstrings Stretch

Stand with your leys hip width apart, Extend ohe leg out in
front of you und keep thut foot flut agadinst the ground. With
your hands resting lightly on your thighs, bend your buck ley
and leun forward slightly from your hips until you feel u stretch
in the buck of your thigh. Be sure to leun forward from the hip
joint rather than bending at your wuist,

Hold for 20 to 30 seconds. Repeut for the opposite ley.

6. Buttocks, Hips and Abdominal Streich

Lay flat on your back with your hips reluxed aguinst the floor.
Bend one ley ut the knee. Keepiny both shoulders flut on the
floor, genftly grusp the bent knee with your hands und pull it over
your body und towards the ground. You should feel u stretch in
your hips, ubdominals und lower buck.

Hold for 20 to 30 seconds und releuse. Repeut for opposite side.

7. Inner Thigh Stretch

Sit on the floor and bend your leys so that the soles of your feet
dare toyether. Pluce your elbows on your knees. Leun forward
from the wdist und press down lightly on the inside of your knees.
You should feel u stretch in the muscles of your inside thigh.

Hold for 20 fo 30 seconds und releuse.

8. Arm Pullback

Stand with your feet shoulder width apart and toes pointing
forward and with your knees slightly bent. Let your arms hang
reluxed on either side of your body. Expund your chest und pull
your shoulders back. Bend your elbows slightly and clasp your
hands behind your back. Slowly straighten your arms as you lift
your hunds upwaurd. Ruise your hands upward until you feel mild
tension in your shoulder und chest reyion.

Hold for 20 to 30 seconds. Lower your urms to their origindl
position und bend your elbows. Releuse your hands und return
them to your sides.

EQUIPMENT WARNING LABELS

Important: See below for placement of the following warning labels on your equipment.

WARNING LABEL 1

AWARNING

FAILURE TO READ AND FOLLOW THE SAFETY INSTRUCTIONS STATED IN THE
OWNER’S MANUAL MAY RESULT IN POSSIBLE SERIOUS INJURY OR DEATH.
KEEP CHILDREN AWAY. MAXIMUM USER WEIGHT 275 LBS.
REPLACE THIS LABEL IF DAMAGED, ILLEGIBLE OR REMOVED. CLASS HC.

WARNING LABEL 2

RISK OF ELECTRICAL SHOCK. THIS UNIT
IS TO BE USED ONLY INDOORS
AND IN A DRY LOCATION.

DO NOT PLUG THE AC ADAPTER INTO

WARNING LABEL 3 (2 locations)

CRUSH HAZARD.

KEEP HANDS B
CLEAR DURING -1175-
OPERATION. Sfdfllg:dry

X-1175-111 °
Monitor B
[ )

SPECIFICATIONS

& PARTS

Eclipse 1175e .
Specifications: X-1175-90
Approximute: Left Handlebar s

Length: 46.25" 'l I

Width: 26.5"
Height: 65"

Product Weight:
Approx. 119 lbs.

Maximum User Weight: %-1175-89
275 los. Left Swing Arm

X-1175-67
LOCATED ON Front Foot Tube
BOTH SIDES ®..
OF UNIT
WARNING
LABEL 3

X-1175-20
X-1175-68 o F§°'
Left Front End Cap ariorm
w/Wheel

WALL UNTIL ELECTRONICS MONITOR IS
COMPLETELY ASSEMBLED.

X-1175-02
Pulse Sensor w/Wire

X-1175-04
Right Handlebar

X-1175-93
Water Bottle Holder

X-1175-19
Right Swing Arm

X-1175-114
AC Adapter
)

LABEL 2

L4 X-1175-53
X-1175-51 Rear Foot
Short Leveler Tube

Download from Www.Somanuals.com. All Manuals Search And Download.



INTRODUCTION

CONGRATULATIONS ON PURCHASING YOUR
ECLIPSE 1175e ELLIPTICAL TRAINER

With this product in your home, you have everything you need to start
your owh workout program to tone and firm the mujor muscle groups of
your lower body. This is vital for dll of us, regurdless of uye, sex, or fithess
level, und regardless of whether your primary goul is toning, hedlth
Mmaintenaunce, or more enerygy for duily activities.

Proper exercise, including a low fuat diet, strenygth training and aerobic

exercise, fones und conditions the muscles we use every day to stand,
wulk, lift and turn. It can actudlly tfransform our body composition by
reducing body fat and increusing the proportion of leun muscle in

our bodies. Using the Elliptical Trainer will help in reducing body fat
and increusing cardiovascular endurance.

Be sure to reud through this Owner’s Manual carefully.
It is the authoritative source of information about your

Elliptical Trainer.

Retain this manual for future reference.

COMMENTS OR QUESTIONS

Deaur Customer,

Congratulations on your purchase of your
Elliptical Trainer,

We're sure that you will be completely sutisfied
with the product und we invite your comments so
thut we cun hear ubout your success.

Pleuse write or cdll our Customer Service Specidlists

ut the address or phone humber listed below, or
contuct us on our web site or emuil us with any
comments or yuestions you muy have,

Eclipse 1175e Elliptical Trainer
Customer Service Department
1400 Raff Road SW, Canton OH 44750-0001

1-800-321-9236, Monday through Friday
8:30um fo 8:00pm, Eastern Standard Time

Please do not call the above number for Parts.
See Ordering Replacement Parts section to
the right.

emuail: customersupport@fithessquest.com
www.fithessyuest.com

All detdils depicted in this Ownher’s Munhudl, and of the
product itself, are subject to change without hotice.

4

Stretches cun help improve flexibility and relieve the tighthess in muscles
that results from repetitive sport movements that require u limited ranye
of motion, like elliptical striding. 10 to 12 minutes of ddily stretching is
recommended. This cun be done when warming up or cooling down.
When performing these stretches, your movements should be slow und
smooth, with no bounciny or jerking. Move into the stretch until you feel
u slight tension, hot puin, in the Muscle and hold the stretch for 20 to 30
seconds. Breuthe slowly und rhythmicdailly. Be sure not to hold your breuth,
Remember that dll strefches must be done for both sides of your body.

1. Quadriceps Stretch

Stund close to u wull, chair or other solid object. Use one hand
to ussist your bulunce. Bend the opposite knee und lift your heel
towards your buttocks. Reuch buck und grusp the top of your
foot with the sume side hand. Keepiny your inner thighs close
toyether, slowly pull your foot towards your buttocks until you
feel u gentle stretch in the front of your thigh. You do hot have
to touch your buttocks with your heel. Stop pulling when you

ORDERING REPLACEMENT PARTS

When ordering parts, please contact our
Parts Department, toll free at 1-800-497-5831,
Monday through Friday, 8:30am to 8:00pm, EST.

IMPORTANT: You must have your serial humber and
this munudl reudy when culling for purts.

Seriul #:

Please also provide the following information:
1) Nume, Mdiling Address und Telephone Number
2) Dute of Purchuse

3) Where Product wus Purchused
(Nume of Retuil Store, City)

4) Model Number (EEL1175)
5) Purt Order Number und Description

Download from Www.Somanuals.com. All Manuals Search And Download.

feel the stretch. Keep your kneecup pointing straight down and
keep your knees close together. (Do not let the lifted knee swinyg
outward.)

Hold the stretch for 20 to 30 seconds. Repeut for the other leg.

2. Calf and Achilles Stretch

Stund upproximately one aurms length away from a wall or
chair with your feet hip-width apuart, Keeping your toes pointed
forward, move one ley in close to the chair while extending the
other ley behind you. Bendiny the ley closest to the chuir and
keepinyg the other ley straight, place your hands on the chdair.,
Keep the heel of the buck ley on the ground und move your
hips forward. Slowly leun forward from the ankle, keeping your
buck ley straight until you feel u stretch in your calf muscles.

Hold for 20 to 30 seconds. Repeut for the opposite ley.

3. Overhead/Triceps Streich

Stand with your feet shoulder width apart and your knees
slightly bent. Lift one urm overheud und bend your elbow,
reaching down behind your head with your hand tfoward the
opposite shoulder blude. Wulk your fingertips down your
back us far us you cun. Hold this position. Reuch up with your
opposite hund und ygrusp your flexed elbow. Gently ussist the
stretch by pulling on the elbow.

Hold for 20 to 30 seconds. Repeut for the opposite urm.

(continued oh hext puye)

WARM UP & COOL DOWN STRETCHES

21



HEART RATE TARGET ZONE
FOR CARDIOVASCULAR FITNESS

TABLE 1
200
NS
190
190 »
185
180 180
175
170 170
165 165
T 161
Heart 140 5y 160
Rate 153 155
(Beats/ 148 150
. 150
Min) | 144 145
140 Maximum
140 . 140 Attainable
136 136 Heart Rate
133 131
130 i 122 156 127
T~ 1123
129 N 85%
119 T~
120 115 ~  Target
f 119 Zone
112 108
110 '
105 101
98 70%
100 Target
20 25 30 35 40 45 50 55 60 65 70 75 80 Zone
AGE (YRS)
TABLE 2
Exercise Warm Up THR% Cool Down Total Sessions Total Time
Week Period Minutes Period Time Per Wk. Per Wk.
1&2 5 min 60-65% - 8 5 min 17 min 3 51 min
3&4 5 min 65-70% -10 5 min 20 min 3 60 min
5&6 5 min 70-75% -15 5 min 25 min 3 75 min
7&8 5 min 70-80% -20 5 min 30 min 3 90 min
9 & 10 5 min 70-85% -25 5 min 35 min 3 105 min
11 & 12 5 min 70-85% -25 5 min 35 min 3 105 min

20

Download from Www.Somanuals.com. All Manuals Search And Download.

HARDWARE KIT

M10 nylon nuts
for swing arm.

(2 PCS)
M10 flat
washers for
swing arm.

(17 PCS)

6 pcs. for vertical tube, 3 pcs. for stationary bar,

M8 curved washers,
4 pcs. for handlebar.

(2 PCS)
Bottom spacers for swing arm.

allen wrench |

multi “T" tool with phillips screwdriver

M8 x 20mm allen bolts, 4 pcs. for front/rear foot tube, 6 pcs. for vertical tube,

3 pes. for stationary bar, 4 pcs. for foot platform.

(17 PCS)

(2 PCS)
M10 x 110mm allen bolts for swing arm.

vertical tube, 3 pcs. for stationary bar,

4 pcs. for front/rear foot tube, 6 pcs. for
4 pcs. for handlebar.

M8 spring washers,

@@ |—
(4 PCS)

M8 flat washers

(4 PCS)
M8 acorn nuts for handlebar.

M8 x 50mm carriage bolts for handlebar.

for front/rear foot tube.

2 pcs. for water bottle holder,

M5 x 16mm phillips bolts,
2 pcs. for monitor mount.




ASSEMBLY INSTRUCTIONS

Occasionally our products contain components that are
pre-lubricated at the factory. We recommend that you
protect flooring, or anything else the parts may contact,

with newspaper or cloth.

Tools Required (included):
Allen Wrench
Multi “T” Tool w/Phillips Screwdriver

STEP 1 - Attaching the Foot Tubes

a) Aftuch the Front Foot Tube to the
Mdain Frame using two Allen Bolts
with a Flat Washer and a Spring
Wuasher on euch Bolf.

b) Aftuch the Reur Foot Tube to the
Mdain Frame using two Allen Bolts
with a Flat Washer and a Spring
Wausher on euch Bolf.

STEP 2 - Aftaching the Monitor Tube

a) Securely connect the Muin Frume Wire to
the Verticul Tube Wire.

b) Cuarefully insert the Verticul Tube into the
front tube in Main Frame. Pleuse muke
sure that the bolt holes line up between
the Verticul Tube und the front tube in
the Muin Frame.

c) Fasten six Allen Bolts with a Spring Washer
und u Curved Wusher through the Verticul
Tube into the front tube on the Muin Frume.

Note:
Do not pinch the wires.

NOTE: All location references, such as
front, rear, left or right, made in these
instructions are from the user being
on the equipment and facing forward.

main frame

front foot

M8 flat

washer N S
— .

M8 spring/
washer

M8 x 20mm rear foot
allen bolt tube

vertical tube

vertical tube wire

M8 curved washer

M8 spring washer \\
L
M8 x 20mm e

main frame wire

main frame

2

allen bolt

Figure 2 - Install Monifor Tube

40 yeur old to yet u curdiovuscular effect the
individuul would heed to keep their heurt rate

ut or ubove 126 beuts per minute to gyet u
curdiovusculur effect. Note: Although 70% wdus
used in this example, the heurt rate ranye needed
to uchieve results fulls between 60% und 85% of
your maximum heart rate,

If you are just beyinning your exercise progrum,
your target heart rate range should be roughly
at 60% of your muximum heurt rate. As you
become more conditioned (or if you dre dlreudy
in good curdiovuscular shupe) you cun increuse
your target heurt rate to 70%-85% of your
mauximum heurt rate. Remember, your

target heurt rate is only u yuide.

When checkihg heart rate during a workout, take
your pulse within five seconds ufter interrupting
exercise becuuse it sturts to go down once you
stop Moviny. Count pulse for 10 seconds und
multiply by six to get the per-minute rate,

Remember, your elliptical trainer also comes
with pulse sensors locuted on the dudl-action
handlebars.

When used properly, the unit pulse sensors
can help you to determine your estimated
heart rate. To do so:

a) Push the START button on your monitor.

b) Gently grab both metal pulse sehsors on
both handlebars. Wait 6 seconds.

¢) Your estimuted heurt rate range will be
displayed oh screen. Check the chart on the
followiny puye to see if you ure within your
ranyge uccording to your uye.

When used properly, the heart rate pulse
sensors and display monitor provide a
reasonably accurate estimate of your
actual heart rate. This estimate is not exact
and persons with medical conditions and/or
a specific need for accurate heart rate
monitoring should not rely on the
estimations provided.

By using the chart on the following puge, you cun
see where your heurt rate fdlls in the minimum and
muximum turget zones.

The ubove ure guidelines, people with any
medicul limitations should discuss this formulu
with their physiciun.,

Download from Www.Somanuals.com. All Manuals Search And Download.

CLOTHING

All exercise clothing should be loose-fitting to
permit freedom of movement, und should muke
the weurer feel comfortuble und self-ussured.

Never weur rubberized or plustic clothing, such
gurments interfere with the evaporation of
perspirafion and cun cause body tfemperature
to rise to dunhgyerous levels.

We recommend wedring u workout shoe with d
rubberized sole unless instructed otherwise.

TIPS TO KEEP YOU GOING

1) Adopt u specific plun und write it down.

2) Keep setting redlistic gouls us you go ulony,
and remind yourself of them often.

3) Keep uloy to record your proyress und muke
sure to keep it up-to-dute. See puye 24.

4) Include weight and/or percent body fut
Meusures in your loy. Extra pounds cun
eusily creep buck.

5) Upygrade your fithess program ds you forogress.
Your elliptical trainer provides 12 different
programs to keep your workouts challenging.

6) Enlist the support und compuny of your family
and friends.

7) Updute others on your successes.

8) Avoid injuries by pucing yourself and including
U warm up und cool down period us purt of
every workout. See puye 18.

9) Rewurd yourself periodicully for u job well done!

19



Your exercise progrum should include something
from euch of the four busic fithess components
described previously. Each workout should beyin
with o warm up und end with u cool down. As u
generdl rule, spuce your workouts throughout
the week und uvoid consecutive duys of hard
exercise.

Here are the umounts of uctivity necessury for the
averuge hedlthy person to maintain a minimum
level of overdll fithess. Included dare some of the
populur exercises for euch cuteyory.

WARM UP - 5-10 minutes of exercise such us
wulking, slow jogying, knee lifts, arm circles or
tfrunk rotations. Low intensity movements that
simulute movements to be used in the activity
cun dlso be included in the warm up.

MUSCULAR STRENGTH - u minimum of two, 20
minute sessions per week that include exercises for
dll the mujor muscle groups. Lifting weights is the
most effective way to increuse strenyth.

MUSCULAR ENDURANCE - ut leust three, 30 minute
sessions euch week that include exercises such ds
culisthenics, push ups, sit ups, pull ups, und weight
fraining for all the major muscle groups.

CARDIORESPIRATORY ENDURANCE - uf leust
three, 20 minute workouts of continuous uerobic
exercise euch week. Working out on your elliptical
frainer is a good way to obtdin this aerobic dctivity.
Other populur uerobic conditioning dctivities
include brisk walking, jogying, swimming, cycling,
rope jumpinyg, rowiny, cross-country skiing, und
some continuous uction ygumes like racquetbull
and handbull.

FLEXIBILITY - 10-12 minutes of duily stretchiny
exercises performed slowly, without u bounciny
motion. This cun be included ufter u warm up or
during u cool down. Refer to puyes 21 und 22
for u list of totul body stretches.

COOL DOWN - a minimum of 5-10 minutes of
slow wualking or lower intensity elliptical exercise,
combined with stretching.

AEROBIC EXERCISE:
HOW MUCH? HOW OFTEN?

Experts recommend that you do some form of
uerobic exercise ut leust three times u week for u
minimum of 20 continuous Minutes. Of course, if
that is too much, start with a shorter time spun und
gradudlly build up to the minimum. Then graduadlly
progress until you are uble to work uerobicully for
20-40 minutes. If you want o lose weight, you may

waunt to do your uerobic workout five times u week.

18

It is importunt to exercise ut an intensity vigorous
enouyh to cuuse your heurt rute und breuthing to
increuse. How hard you should exercise depends to
u certuin deyree on your uge, und is determined
by medusuring your heart rate in beats per minute.
Refer to the "Meusuring Your Hedrt Rute” section
below und on puyge 19 for more informaution on
how to determine und medsure your heurt rate,

You cun do different types of uerobic uctivities, say
wualking onhe duy, und use your elliptical frainer the
hext. Muke sure you choose un activity that can
be done regulurly, und is enjoyuble for you. The
importunt thing to remember is hot to skip too
mauny days between workouts or fithess benefits
will be lost. If you must lose u few days, gradudlly
work buck into your routine.

WHEN TO EXERCISE

The hour just before the evening medul is u popular
fime for exercise. The lute uffernoon workout
provides u welcome chunye of puce ut the

end of the work duy und helps dissolve the

day's worries und tensions.

Another popular time to work out is edrly morning,
before the work day beygins. Advocutes of the eurly
start say it makes them more dlert und energetic
on the job.

Amony the fuctors you should consider in
developiny your workout schedule ure personul
preference, job und fumily responsibilities,
avdilubility of exercise facilities and wedther. It's
important to schedule your workouts for a fime
when there is little chance that you will have to
cuncel or interrupt them becuuse of other
demunds on your time.

You should not exercise strenuously duriny
extremely hot, humid weduther or within two
hours uffer euting. Heut und/or digestion both
mauke heuvy demunds on the circulutory system,
und in combinution with exercise cun be un
over-tuxing double loud.

MEASURING YOUR HEART RATE
(see chart on page 20)

Heurt rate is widely uccepted us u good method
for meusuring intensity during running, swimmingy,
cycling, und other uerobic uctivities. Exercise that
doesn't ruise your heurt rate to u certuin level und
keep it there for 20 minutes won't contribute
significuntly to curdiovuscular fithess.

The heart rate you should muaintain is culled your
Target Heart Rute. There are several ways of drriving
at this figure. One of the simplest is: Muximum heart
rate (220 - age) x 70%. Thus, the target heart rate for
U 40 yeur-old would be 126. In this example for this

STEP 3 - Aftaching the Swing Arms

a) The boftom of the Left Swing Arm will have u
hole thut will line up with the holes in the
bracket of the Left Foot Tube.

From the inside, slide the Allen Bolt through the
holes in the Left Foot Tube Bracket und the hole
in the Left Swing Arm. This secures the Left Swing
Arm to the Left Foot Tube.

b) Insert u Bottom Spucer und Flut Washer,
followed by u Nylon Nut onto the Allen Bolt,
und then tighten.

C) Repeut steps a und b to uttuch the Right
Swing Arm.

STEP 4 - Attaching the Foot Platforms
a) Place u Foot Plutform on the Left Foot Tube.

b) Aligh the two holes between the Foot Plutform
und the Left Foot Tube. Insert two Allen Bolts
und tighten the Bolts.

C) Repeut steps a und b to uttuch the other
Foot Plutform to the right side.

Download from Www.Somanuals.com. All Manuals Search And Download.

left swing
arm
right swing
arm

M10 x 110mm
allen bolt

right foot
tube

M10
flat washer

M10 \ o | )
nylon nut\&

bottom
spacer

left foot
tube
bracket

left foot tube

M8 x 20mm allen bolt

foot platform

left foot tube
foot

Figure 4 - Install Foot Platforms



STEP 5 - Aftaching the Stationary Bar

a) Insert the Stationary Bar into the Vertical Tube.
Pleuse muke sure the Wires ure protruding
out of the top, und ulign the holes in the
bottom of the Stationary Bar with the holes
in the top of the Verticul Tube.

b) Insert the three Allen Bolts with u Curved
Wusher und Spring Wusher per Allen Bolt,
Tighten dll Allen Bolts.

Note: Do not pinch the wires.

STEP 6 - Aftaching the Water Boftle Holder

a) Align the two holes of the Verticudl Tube
with the two holes in the Wuter Bottle Holder.
Secure the Holder with two Phillips Bolts.

b) Insert Wuter Bottle into the Holder. Be sure to
wush the bofttle before usuye.

vertical tube
pulse wires

M8 curved vertical tube wire

washer

M8 spring stationary bar

washer

M8 x 20mm
allen bolt

vertical tube

Figure 5 - Install Stationary Bar

water bottle

water bottle
holder

T M5x 16mm
phillips bolt

Figure 6 - Install Water Bottle Holder

IMPORTANT
Please review this section before you begin exercising.

IMPORTANT:

If you ure over 35 und have been inuctive
for severdl yeurs, you should consult your
physician, who muy or muy hot recommend
u gruded exercise test.
If you dare just beginning your exercise program,
your target heart rate ranyge should be roughly
ut 60% of your muximum heurt rate. As you
become more conditioned (or if you dre dlready
in gyood curdiovuscular shape) you cun increuse
your target heuart rate to 70%-85% of your
maximum heart rate. Remember, your
target heart rate is only u guide.
You should dlso consult your physician if you
have the following:

e High blood pressure

e High cholesterol

e Asthmu

e Heuart trouble

e Family history of eurly stroke or

heurt uttack deuths

e Freqyuent dizzy spells

e Extreme breuthlessness ufter mild exertion

e Arthritis or other bone problems

e Severe muscular, ligument or
tendon problems

o Other knowh or suspected diseuse

e [f you experience uny puin or tightness
in your chest, un irregulur heurtbeut or
shorthess of breuth, stop exercisiny
immediutely. Consult your physician
before continuing.

e Pregnunt

e Balunce Impuirment

e Tukiny Medicutions thut uffect heurt rute

Download from Www.Somanuals.com. All Manuals Search And Download.

KNOWING THE BASICS

Physicul fithess is most eusily understood by
exumining its components, or "parts”,

There is widespread agreement that these
five componenits comprise the basics of
physical fraining:

CARDIORESPIRATORY ENDURANCE - the ubility
to deliver oxygen und nutrients to tissues, und to
remove wustes, over sustuined periods of time.
Using your elliptical trainer will improve this.

MUSCULAR STRENGTH - the ubility of a muscle to
exert force for u brief period of time. Upper-body
strenygth, for example, cun be meusured by various
weight-liffing exercises.

MUSCULAR ENDURANCE - the ubility of a muscle, or
u group of muscles, to sustuin repeuted contractions
or to continue upplying force aguinst u fixed object,
Push-ups ure often used to test endurance of arm
und shoulder muscles.

FLEXIBILITY - the dability fo move joints and use
Mmuscles through their full range of motion. The
sit-und-reuch test is u good meusure of flexibility of
the lower buck und bucks of the upper leys.

BODY COMPOSITION - offenh considered a compo-
nent of fithess. It refers to the mukeup of the body in
terms of leun mMuss (Muscle, bone, vitdl tissue und
orguns) und fut muss. An optimal ratio of fut fo leun
mauss is un indicution of fithess, und the right types of
exercises will help you decreuse body fut und
increuse or muintuin Muscle muss. To help frack your
progress we have provided o Workout Progress Chart
oh puyge 24,

A COMPLETE EXERCISE PROGRAM

How often, how lonhy und how hard you exercise,
und whut kinds of exercises you do should be
determined by whut you dre frying to accomplish.
Your goulls, your present fithess level, age, hedlth,
skills, interest and convenience dre umony the
factors you should consider. For example, an uthlete
training for high-level competition would follow <
different progrum than u person whose gouls ure
yood hedlth and the ubility to meet work and
recreutiondl heeds.

(continued oh hext puge)

17



PROGRAM 1
MANUAL
o o o o

PROGRAM 2

ROTATING
o o

PROGRAM 3

VALLEY
S —— — — — —) -

1 0 1 0 1 I [ | ]|}
PROGRAM 4

FAT BURN
R | N

Program Profiles

PROGRAM 5

RAMP
| o o o

PROGRAM 6
FITNESS TEST
| o o

PROGRAM 7

INTERVALS
o o o o

PROGRAM 8

BODY FAT PROGRAM

PROGRAM 9

TARGET HEART RATE
T ] -

N [ ] S

PROGRAM 10

60% HEART RATE
COr e .

N [ | ] | |

PROGRAM 11

75% HEART RATE
| o o

ENN | || | | N S | N | |
PROGRAM 12

85% HEART RATE
I [

EN | | | | | | | B

STEP 7 - Attaching the Monitor

a) Remove the Bolts from the reur
of the Monitor (see 7).

b) Put the Wires from the rear of the
Monitor into the lurge hole of the
Monitor Plute, Then insert the Bolts
through the Monitor Plute into the
Monitor.

c) Connect the Monitor Wire to the
Vertical Tube Wire.

d) Conhnect the Monitor Pulse Wires to
the Verticual Tube Pulse Wires.

e) Insert the Monitor Plate info the
Verticdl Tube. Aligh the Bolt holes
ufter inserting Monitor Mount (see 7b).

f) Insert und tighten two Phillips Bolts
intfo the holes.

STEP 8 - Installing the Handlebars

a) Connect the Verticul Tube Pulse Wire to
the Left Hundlebuar Pulse Sensor Wire.

b) Instdll the Left Hundlebur intfo the Left
Swing Arm. Muke sure to uligh the Bolt
Holes of the Left Hundlebur with the Bolt
Holes of the Left Swing Arm.

¢) From the reur of the Ellipticdl, insert the
two Carriuge Bolts through the two holes.

d) Instull u Curved Wusher, u Spring Wusher,
and then an Acorn Nut onto euch Bolt.
Make sure euch Acorn Nut is fightened.

e) Connhect the Verticul Tube Pulse Wire with
the Right Hundlebar Pulse Sensor Wire.

f) Install the Right Hundlebur into the Right
Swinyg Arm. Muke sure to dligh the Bolt
Holes of the Right Hundlebur with the
Bolt Holes of the Right Swing Arm.

g) From the reur of the Ellipficul, insert the two
Curriuge Bolts through the two holes.

h) Instull a Curved Wausher, u Spring Wusher,
and then an Acorn Nut onto each Bolt,
Muake sure euch Acorh Nut is tightened.

Download from Www.Somanuals.com. All Manuals Search And Download.

monitor pulse wires

monitor wire

monitor plate
monitor
mount

T M5 x 10mm phillips bolt

18 , vertical tube pulse wires

0 vertical tube wire
ﬁ

< M5 x 16mm phillips bolt

'?a/fv\
)

stationary
bar

right
handlebar
left
handlebar
REAR
FRONT
pulse sensor wire
M8 curved vertical tube
M&acorn washer pulse wire
nut
) ) N ~ Sz
M8 spring o g ~<,
washer /@ A %@\
pulse sensor M8_x 50mm
wire carriage bolt
vertical tube | \

\( — right swing

arm

pulse wire /F
\ \

left swing arm ‘ | \
| |

Figure 8 - Install Handlebars




Step 9 - Plugging in the
AC Adapter

a) Afttuch the AC Adupter to
the Input locuted on the
reur of the ellipticdl frainer.
Then, pluy the AC Adupter
into a 110 Volt outlet.

ECLIPSE 1175e PARTS LIST

A%

Figure 9 - AC Adapter

PART # ITEM # DESCRIPTION

X1175-01 1 large end cup

X1175-02 2 pulse sensor w/wire
X1175-03 3 M3 x 20mm phillips screw
X1175-04 4 right hundlebur
X1175-06 6 M8 x 30mm ullen bolt
X1175-07 7 M8 flut washer

X1175-08 8 fop spucer

X1175-09 9 M8 large washer
X1175-11 11 plustic bushiny

X1175-12 12 swiny urm sleeve
X1175-13 13 M8 curved washer
X1175-14 14 M8 spring wusher
X1175-15 15 M8 acorh nut

X1175-16 16 M8 x 50mm curriuge bolt
X1175-17 17 smull wavy wusher
X1175-18 18 top plustic spucer
X1175-19 19 right swing arm

X1175-20 21 foot plutform

X1175-21 22 M10 nylon nut

X1175-22 23 M10 flut wusher
X1175-23 24 bottom spucer

X1175-25 26 M10 x 110mm ullen bolt
X1175-28 27 M4 x 19mm phillips screw
X1175-27 28 foot tube cover
X1175-28 29 foot tube pluy

X1175-29 30 right foot tube

X1175-30 31 metdl washer

X1175-31 32 M8 x 20mm allen bolt
X1175-33 35 roller

X1175-35 37 wheel cup

X1175-42 44 large wusher

X1175-46 47 M4 x 16mm phillips screw
X1175-47 48 right shroud

X1175-48 49 right cover

X1175-49 50 M4 x 10mm phillips screw
X1175-50 51 reur end cup

X1175-51 52 short leveler

X1175-52 53 AC udupter

10

Qry.

NNNNN=NNDEMDNGTLEZNONNON—=DMNNON

N — BN o

p—
~

—“ NN = = 00NNN

PART #

X1175-83
X1175-54
X1175-55
X1175-56
X1175-62
X1175-63
X1175-64
X1175-67
X1175-68
X1175-76
X1175-85
X1175-86
X1175-88
X1175-89
X1175-90
X1175-91
X1175-92
X1175-93
X1175-94
X1175-95
X1175-96
X1175-97
X1175-98
X1175-99
X1175-102
X1175-108
X1175-109
X1175-110
X1175-111
X1175-114
X1175-115
X1175-118
X1175-119
X1175-FP
X1175-MC
X1175-OM

ITEM #

54
55
56
57
63
64
65
68
69
75
86
87
89
90
91
92
93
94
95
96
97
99
100
101
104
110
11
112
113
116
117

Assembly is now
complete.

IMPORTANT:

Please read pages 12-13

before beginning your
workout for important

instructions on how to use

your elliptical trainer.

DESCRIPTION Qry.

rear foot tube

main frume

AC udupter pluy

sensor w/wire

main frume wire

verticul tube wire

right front end cup w/wheel
front foot tube

left front end cup w/wheel
M5 x T6mm phillips bolt
left shroud

left cover

left foot tube

left swing arm

left hundlebur

verticul tube

wuter bottle holder w/clip
wire pluy

wire sleeve

verticdl fube pulse wire
water bottle

stationary bar grip
stationary bar

small end pluy

monitor mount

M5 x 10mm phillips bolt (silver)
monitor plute

M5 x 10mm phillips bolt
monitor

AC udupter wire

M5 x 256mm phillips screw
dllen wrench

multi "T" tool w/phillips screwdriver
fastener puck

master carton

owners munuaul

—_ e N — = N = DN N =N —=MNNDN 2 a0 a NN — N

RECOVERY FUNCTION

During u workout, this button can be pressed to
uctivate d resting period for 1 minute. The program
will automaticully go into Recovery, if you exceed
the pulse rate that was entered before the
workout beyins.

MANUAL PROGRAM (Program 1)

After selecting the Munudl program, you cun

edit dll the purameters in this proyram by pressiny
Up or Down on the Key Pud. Once u desired
purameter is met, press Select to Move o the
hext parameter. The Start/Stop button will beygin
the Munuadl Program exercise. During this exercise,
Up/Down udjusts resistunce loud during the
workout.

PRE-PROGRAM (Programs 2-7)

There dre 6 programs to select und the profiles
dure locuted on puye 16. All program profiles have
16 levels of resistunce.

After u progrum hus been selected, pressing Enter
will muke the Time Parameter flush. Then, by press-
ing Up or Down you cun select the desired Time
vulue und then press Enfer. You cun edit other
purameters, und pressing Start/Stop will beyin

the workout.

BODY FAT PROGRAM (Program 8)

1) Select the Body Fut (B.F) Program and press Enter,

2) Then select your Gender (Mule or Femule) und
fpress Enter, select your Age (in yeurs) und press
Enter, select your Height (feet then inches) und
fpress Enter, select your weight (in pounds) und
fpress Enter, hit Start, and then grasp the hand
pulse sensors for fiffteen seconds.

3) The display will then show your BMI “Body Mdss

Index” und your estimuted Body Fut percentuye.
Below is u chart pertdining to Body Muss Index.

BMI (Body Mass Index) | Weight Status
Below 18.5 Underweight
18.5-24.9 Normal
25.0-29.9 Overweight

30.0 und Above Obese

Body Type Female Male

Athlete <17% <10%
Leun 17-22% 10-15%
Normal 22-25% 15-18%
Above Averuge| 25-29% 18-20%
Over fat 29-35% 20-25%

Obese 35+% 25+%

Download from Www.Somanuals.com. All Manuals Search And Download.

TARGET HEART RATE PROGRAMS
(Programs 9-12)

Direct Target Heart Rate Setting (Program 9)

This Heurt Rute sefting is entered directly by the
user. All paurameters cun be entered by the user.
A Turget Heurt Rute must be entered by the user,
but the default value is 90.

60% Target Heart Rate (Program 10)

This Turget Heart Rute is set indirectly by using
your uge. All parameters cun be entered by
the user. It will then use your uge to creute the
proper exercise.

75% Target Heart Rate (Program 11)

This Target Heart Rute is set indirectly by using your
uge. All paurameters cun be entered by the user.

It will then use your uge to creute the proper
exercise.

85% Target Heart Rate (Program 12)
This Target Heart Rute is set indirectly by using
your uge. All parameters can be entered by
the user. It will then use your uge to creute the
proper exercise.

(continued oh hext puye)

15



OPERATING THE MONITOR

WARNING

Do not plug AC Adupter into wall until
monitor is completely ussembled.

INTRODUCTION

This Monitor provides different programs
desighed to tdilor to your fithess godls. Simply
choose the program you like, set the purameters
und beyin exercising. The Monitor will display
culories, RPM, fime, speed, wuttuge, pulse,

heart rate und distance.,

IMPORTANT

Always consult with your physiciun before
beyinning uny exercise program. If you ure
taking mMedicution which may uffect your heart
rate, u physiciun’s advice is absolutely essentidl,

WARNING

Do not uttempt to open the buck cover of the
Monitor console. This is hot u buttery storauge areu;
this Monitor is powered by un AC Adupter. This unit
is fo be used only indoors und in a dry locution. Do
nhot plug the AC Adupter intfo the wall until the
electronics monitor is completely ussembled.

DATA INPUT BUTTONS

1. START/STOP To Start or Stop U workout, press
this button. Sturt Body Fut
Meusurement and yuit the
Body Fat Medusurement,

2. DOWN Decreuses the vulue of u selected
workout parameter. During the
workout, it will decreuse the
resistunce loud.

3. UP Increuses the vulue of u selected
workout parameter. During the
workout, it will increuse the
resistunce loud.

4. ENTER To input desired value or workout
mode.
5. TEST Press to enter into Recovery

function when the Monitor hus the
hedart rate vdlue. Recovery is Fithess
Level 1-6 ufter one minute. F1 is the
best, und F6 is the worst,

6. MODE Press to switch display from RPM
to SPEED, und ODO to DIST during
workout,

14

“ -
|

START
upP DOWN ENTER TEST MODE
STOP

——

USING YOUR MONITOR

Pluy the AC Adupter into the unit und then intfo u
110 volt electricul socket to turn the Monitor on.
When the Monitor is first turned on, the display will
emit u beep us the entire LCD Display lights up.

Press Up or Down on the Key Pad to move to the
desired program. When the program is flushing, that
is the program that would be selected. Press Enter 1o
select the desired program. If the parameters in the

program are at zero in the beyginning of the workout,

the parameters will count up from zero. During the
workout, the Up aund Down will increuse (UP)/
decreuse (DOWN) the resistance loud. The program
profiles und functions ure described in detdil below
and on the following puyes.

Note: If there is ho input signhal for over 4 minutes,
the system will enter Sleep Mode aund dil displays
will turh off automatically. Simply re-starting your
workout or pressing uny bufton will result in the
LCD screen powering up dagdin,

Holding the Start/Stop button for three seconds will
reset dll function value to zero.

FUNCTION DISPLAY VALUE

TIME (minutes) 00:00 - 99:00 (Count Up)
99.00 - 00:00 (Count Downh)

SPEED (MPH) 0-99.5
DISTANCE (miles) 0.00 - 99.9
CALORIES 0-999

PULSE (Beats
per minutes) 40 - 240

Download from Www.Somanuals.com. All Manuals Search And Download.

=
—
>
Q
L
Q
(@)
'
o
X
L
Q
Te)
N~
"
(7
o.
-
O
ot




GETTING STARTED

Once your elliptical trainer is ussemibled, make sure that your workout space has d solid, level surface
with plenty of spuce duround it. We recommend plaucing g mat under your unit to protect your flooring.
Before you beyin your first workout on the ellipticul frainer, practice getting on und off your trauiner u few
tfimes until you ure comfortuble with this movement.

Gefting On

Move the left foot platform to its lowest position.

1) Fuce forward und put your hunds on the
stationary handlebars.,

2) Pluce your left foot on the left foot plutform und
buldance yourself.,

3) Curefully lift your right foot over the unit und
place your right foot on the right foot platform.
Mauke sure thut you feel completely bulunced
before beyginhing your workout.

Getting Off
When stepping off, you must gradudlly slow down the rate at which you are
peduling until the unit comes to a complete stop.

1) Grusp the stationary handlebars with both hands (see Fig 3 ubove).
2) Step off the higher foot platform onto the floor (see Fig 2 ubove).

3) Then carefully bring your other foot over the unit aund down to the floor
(see Fig 1 ubove). Let go of the stutionary handlebars,

Correct Workout Position

When exercising, it is important to keep your buack straight and knees “soft”
or slightly bent. Do hot lock out your knees. Keep your heud up us this

will minimize heck and upper back strain. Always try to use the

ellipticdl trainer with a smooth and rhythmical motion.

USING YOUR ELLIPTICAL TRAINER

A\ WARNING

RISK OF ELECTRICAL SHOCK.THIS UNIT IS TO BE USED
ONLY INDOORS AND IN A DRY LOCATION.

The elliptical trainer, with it’s Orbitdl Linkage System, provides a completely smooth and naturdl
feeling, elliptical path that minimizes the impact on your hips, knees and ankles while providing a
superior uerobic und muscle toning workout. The durdble steel frume and streumlined look muke
the equipment eusy to use und eusy to store, no mautter what your spuce limitations.

IMPORTANT:

e This equipment is hot recommended for children.

o Always wedur rubber soled workout shoes.

o Always muke sure thut you feel bulunced und secure.

e Always use your equipment on u cleun, solid und level surfuce.

12

CHANGING FOOT POSITIONS

The yenerously sized foot plutforms ure 7” wide by 16" lony,
which provides workout stability and dllows you to vary your
foot position for different workout intensities. Beygin with your
feet in the most forwaurd position and then move your feet

to the position thut feels most comfortuble to you. The further
back your feet dre pluced on the foot platforms, the greuter the verticul
height of the ellipticul motion und therefore, the harder the workout.

USING THE HANDLEBARS

Your ellipticul tfrainer comes with both dudl-action hundlebars and stationary handlebars.
Dual-Action Handlebars

duul-uction hundlebuars. Adjust your hands up und down slightly to find the position most
comfortuble for you. Bend your elbows slightly so that your arms are hot hyperextended
or “locked out”, Use d firm yrip but try to avoid “white knuckles”. As your legys move in the
elliptical motion, pumip your urms back and forth as if you were walking. Using the dudl-
uction hundleburs will work your upper body in auddifion to your lower body. By using the
duul-uction hundleburs, you dre recruiting more muscles which will both elevate your
hedart rate und burn more culories than simply doinyg u lower body workout.

Using the Pulse Function on the Dual-Action Handlebars

The pulse window on your monitor works in conjunction with the pulse sensors found

onh the duul-uction hundlebars. When you dre reudy to reud your pulse:

1) Place both hands firmly on the pulse sensors. For the most accurate
reading, it is important o use both hands and to temporarily stop Moving.

2) Look ut your pulse window. The small heart will beyin to blink.

3) Your estimuted heurt rate will appeur in the window upproximately 6 seconds
after you yrusp the pulse sensors.

4) Refer to the Turget Heurt Rute Zone churt found on puge 20 of this munual. For udditionul information
about the importance of working within certain heart rate ranges, see puges 18 und 19 - Measuring
Your Heart Rate.,

5) This estimute is hot exact and persons with medicul conditions and/or u specific heed for accurdate
heart rate mMonitoring should not rely on the estimations provided.

Stationary Handlebars

Place your hunds midway between the top und bottom of the left und right arms on the
stationary handlebdars. Adjust your haunds up and down until you find the position most
comfortable for you. Bend your elbows slightly so that your arms dre not hyperextended
or "locked out”, Using the stationary handlebars during your workout will decreuse the
amount of work in your upper body and increuse the umount of work in your lower body.

ADJUSTING THE LEVEL OF THE
ELLIPTICAL TRAINER

The Short Levelers ure locuted on the bottom of the
Redur Foot Tube End Cups. To ruise the Foot Tube, turn
the Short Levelers counter-clockwise with the Allen
Wrench provided. To lower the Foot Tube, turn the
Levelers clockwise with the Allen Wrench. Make

sure the elliptical frainer is level before exercising.

rear foot tube
end cap

short leveler

Download from Www.Somanuals.com. All Manuals Search And Download.

Place your hunds midway between the top und bottom of the left and right arms on the

13



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/



